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I  Dispute j1nv /21 re minimal 1w for T and 1w
a a7 a7 for less than n»a is not a 77; a 1MW of less than the size of a bean is not a 1MW
b pnr “1 neither requires a minimal MW of food
¢ Challenge (n:7 mbiax &nooin): 2 bones, each with 1/2 nn m13 and the other sides (no meat) went into YnR — &no
i Dissent (3p»” “1ibid): how can 2 bones be merged to generate n>r2? (50X not &nv)
1 Answer (forav): if bone is a T (no marrow), he holds like apy> "3; if 1mw, holds like p"n
2 Answer (for 27 ”): reads case as 7, holds like p”n (no minimal 1Y)
(a) 5”r limits this to a bone, which is a 7; but a hairisn'ta 7
(b) ’"revenahairisam
(i) Challenge (575 »™): if a hair comes out of 7wa n>1, touching it >xrnv
1. Assumption: as T
2. Rejection: as 1MW (not a 1mw ¥y 1w, but hair goes through holes in skin to meat and is a 1)
a.  Challenge (37»7 72 AnK& “7): how can we write pYan (if there are punctures in all skin)
b. Answer (per ’&): any hole that the ink can overpass is not considered a 2
3. Or: as T — per RYYR "1 — "hair among hairs" (explanation forthwith)— same here
a.  Context: xR Py — the hairs on the stalk are subject to NRPO (RYYR "1 — PRYNN P2 IRIN)
(if) Note: alternate version of give-and-take, where 1V is assumed and 1’ is "revived" via Ry5R "
3 Note: this entire give-and-take may have been about our mwn, about 2v11 7 etc. merging for nNYw
(a) 5”1 only applies to bones, but hairs cannot be 1mw
(b) »”r. hairs can also be 1mw
(i) Challenge (»"15 5”): how can there be 1MW 23 Yy 1MW?
1. Answer: hairs come out through punctures in skin
a.  Challenge: per above, re 129N (same answer)
(ii) Challenge (5715 »): ruling re hair coming out skin (above) - assumed as 1MW
1. Answer: as T, applying RYYR “1's answer (above) — PR5n1 12 RN
d  Challenge (n:2 pyp1y ‘omn): nTi "1: femur with 1’13 meat on it is all susceptible to nkMY; D™ INR — even if only %193 (=bean)
i Answer (for 37): if bone is a ‘p - holds like nmn> *; if 1MW, holds like mnx
ii ~ Answer (for »): it is a 1M, and he holds like DNy
1 Challenge: even 0Nk required a 193
2 Answer: since N "1 used a MW (112), so did they — but any size is sufficient (support from x'n ahead)
3 Support (837): use of femur as example = must be 1MW (must be meat in the bone)
iii  Support (7:x& py71p): v"arR1 deemed Mnv bean sacks but not legume sacks
1 Explanation: the sacks are in a stalk, stalk serves as 7, as people grab the legumes by the stalk
iv  Challenge (to 37):>"127n — v1 — as people pull out of ground (in its husk) —
1 Answer: that is a complete 072
II  ®YVIR"1's question: can 2 DMWY merge (for MYV)
a  Note: can't be one atop the other, per T:2 pxpw
b Rather: where he split the food, each with its own 1mw
i On the one hand: it doesn't cover the whole food
ii ~ On the other hand: each 1mW covers its own portion
¢ Proposed answer: from y”ar1 (above, from n:x pxpw) — but that refers to a stalk
i Challenge (as above): from »121n (v1); here it is the stalk — as a 1MW
ii ~ Question: the upper rows need the lower (to keep them in place) — why do the lower need the upper?
1  Answer: it is one row
2 Challenge: there isn't N¥’23 in one row (minimal MY*W for 521R NXMV)
3  Answer: there is in wheat like that of now 12 Pynw
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